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4. In a shop study, a set of data was collected to determine whether or not the proportion of defectives

produced by workers was the same for company A, company B, company C or Company D. The
following data were collected:

company A company B Company C company D
Defectives 45 55 70 65
Nondefectives 405 390 370 415

1.Find the sample proportion of defectives in company B. 3%
2.How large a sample is needs if one wishes to be at least 95% confident that the estimate
(sample proportion) is within 0.02 of the true proportion of defectives in company B? 6%
3.Use a 0.05 level of significance to determine if the proportion of defectives is the same for
all four companies. 7%
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